[ Efficiency vs vertpos |

= 0.1 . : :
CQ.09F ++++rreeivrenenenen b e,
2 E : : 5
>\0.08—----------; ------------ peeeeeee e
O . . .
SO0.07F -+ emeeedereneeeens e A
2 : :
£ 0.06F oo eeieeeeee e oo
0.05] SPPPPP
0.04 R
0.03 () TR
0.02 N
0.01 S L
o O | Y [
T 15 Ao e
@ : p
bl # ............
0.5 |
1072

10 0?
TP vertr (cr%)

—s=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
s —— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
Efficiend _, _ pom_v0001_R000000001__Global _mkFitNew TEST1000time_ RECO

N 0.5
$0.45
(2]
> 04
>
2
90-35
o
£ 0.3
(]
0.25
0.2
0.15
0.1
0.05]
o 0 LA
= 12f it
(- N
0.8F
0.6F o ;
-30 - 10 20 30

TP vert z (cm)

~ 0.02

6 -4 20 2 4 6 810
Sim. PV z (cm)




	Contents
	Page 1


